T £ T
FA AR LLIAT 711 789 883| 1,672
AL ER LI BT 1,055 1,219 1,342 2561
JLEEHT 2,324| 2,709] 2995 5,704
HEBCHT 40 39 56 95
FEZE B CIHT 21 27 39 66
& <FHT 46 65 60 125
PHER & SFHT 37 41 42 83
FiENHT 557 622 667| 1,289
75 7 18 A BT 113 91 106 197
b8 A BT 22 30 36 66
ako0=1: 29 36 43 79
B aET 31 39 38 77
1 HT 49 60 81 141
A HT 57 73 74 147
ZEHT 52 49 65 114
HMEFRET 41 44 40 84
F T 49 75 79 154
= RHT 43 40 49 89
R ET 31 40 42 82
Eoikanlidl 36 36 48 84
SR T 65 70 86 156
Hea BT 42 61 59 120
S FHHET 53 47 61 108
N 199 224 258 482
= A BT 1,079| 1,172 1351| 2523
= H O 81 81 99 180
Fift = HT 13 14 14 28
it EHT 96 88 108 196
EHT 20 22 22 44
= EHT 46 54 56 110
H—TH 36 26 25 51
HWM=TH 25 36 31 67
HM=TH 85 93 107 200
HMmTH 34 39 41 80
HMATH 66 66 71 137




T £ HEY (B z

HI<TH 76 77 85 162
A=HT 32 28 33 61
iF SR = BT 50 63 62 125
L X THET 51 50 47 97
B AR THT 121 83 111 194
HNET 846| 1,108| 1,169 2,277
B [E T 103 126 119 245
75 it BT 228 251 267 518
FAHT 233 328 349 677
K HETE 42 53 62 115
W & BT 126 155 168 323
NEFErHT 228 222 262 484
KEHT 116 113 151 264
AL BT 230 263 294 557
HiE H5 T 73 79 107 186
KIEET 22 26 24 50
% R T 9 10 13 23
e LLI BT 272 288 298 586
b, B T 68 68 77 145
7k B2 SFHT 150 168 190 358
i [ T 88 105 120 225
=k 557 549 668 1217
Y, e T 209 212 243 455
LT 426 474 511 985
[/ Et) 11,640 13,116 14,604 27,720
21 - ET 1,960| 2280 2490 4,770
7% T 79 102 97 199
FZHT 124 163 161 324
AR EHT 189 213 231 444
X FHT 151 169 203 372
[/ Et) 2,503 2927| 3,182 6,109
& HHT 1,019 1,227| 1.231| 2458
13 BT 795 1,002] 1,064| 2,066
&% J1I BT 104 137 154 291
FHT 1,221] 1,507 1,646] 3,153




T £ T

LI FH BT 231 281 282 563
% H 1L BT 1,210] 1,403 1547| 2,950
FHHET 614 715 766| 1481
SR [ BT 869| 1,089 1,138 2227
[/ Et) 6,063] 7,361| 7,828 15,189
L =1EHr 63 97 102 199
T =488 969| 1,095 1268 2,363
gl 1,047 1,214| 1404| 2618
= HRET 270 358 380 738
KiTHET 34 55 57 112
= B Ey 21 24 22 46
F F EPHT 115 172 197 369
XiRERT 430 477 414 891
[/ Et) 2,949 3492| 3.844] 7336
12 H BT 193 252 273 525
A BT 46 64 78 142
=] 342 350 434 784
F ST 72 101 120 221
A 3k T 38 61 55 116
5L HT 217 304 326 630
L1 BT 36 57 68 125
FE L KHT 58 95 86 181
# AT 66 100 107 207
[/ Et) 1,068| 1,384 1547| 2,931
K& <FHT 114 123 152 275
J\SEHT 141 204 234 438
Gi: 2N 122 147 174 321
5 ElFFET 756 853 832| 1,685
=T 186 208 260 468
iz 51 62 72 134
75 BT 115 147 152 299
th SR ET 373 460 446 906
55 F] T 429 507 502| 1,009
X8 FH &R <F AT 23 28 40 68
8 H &R F AT 45 50 68 118




HT & HEY (B z

6 FH &R AL BT 1,053 1,344| 1.436] 2780
BR F0HT 66 76 87 163
[/ Et) 3,474| 4209| 4455| 8,664
/N SRHET 4577] 5279| 5,770 11,049
INFRET 1,034| 1,260/ 1,310] 2,570
it Fa T 562 684 721 1,405
AT 329 369 389 758
=2 T 53 75 74 149
/NER T 362 489 503 992
ith 2z PN ET 145 176 166 342
A Fh T 209 312 317 629
Jiti [58 =F HT 325 401 420 821
75 FH A BT 468 498 525| 1,023
INRETER—TH 116 119 150 269
INRETER_TH 161 158 161 319
INRETER=TH 216 273 306 579
INKETEE—T B 26 27 26 53
INKBTFEZT B 51 66 73 139
INKBTEE=T B 77 89 80 169
[/ Et) 8,711 10,275| 10,991| 21,266
[ & ) 36,408| 42,764| 46,451| 89,215
CANEIPN SN 437 390 408 798
(& Ef) 36,845 43,154 46,859 90,013




